
Time: 10 Minutes Paper Science 8 Total Marks: 10

4 Month, 4th Week, 4th Day Syllabus: Unit # 8 Examine the effet of force in

the presence of air pressure

Q.No.1 Encircle the correct answer from the following choices.            (0.5×6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. Air exerts:     ƒƒƒƒZZZZeeeeZZZZrrrrìììì::::
(a) Momentum ñ!54-êG

EH
(b) Pressure 6,b (c) Force ¯gk (d) Energy Z3,Y

ii. If the air is filled in excess of certain limit the baloon may:

ZZZZ¤¤¤¤////ƒƒƒƒZZZZZZZZqqqq----uuuuÐÐÐÐiiiicccc****ŠŠŠŠ{{{{½½½½ŠŠŠŠ~~~~YYYYññññÂÂÂÂ½½½½gggg{{{{ƒƒƒƒYYYYìììì::::
(a) Inflate ’ (b) Burst O (c) Pinch % (d) No effect ÃðZW,7

iii. The pressure has: 6666,,,,bbbbÅÅÅÅƒƒƒƒCCCCìììì::::

(a) One direction Zq-‚ (b) Two directions Šzª
(c) Four directions  egª (d) No direction Ãð‚7
iv. When greater amount of air is pushed in then the air pressure becomes:

ZZZZ####ƒƒƒƒZZZZÅÅÅÅiiiicccc****ŠŠŠŠ{{{{llllZZZZggggZZZZ0000++++ggggŠŠŠŠ,,,,YYYYCCCCììììÂÂÂÂQQQQƒƒƒƒZZZZ»»»»6666,,,,bbbbƒƒƒƒYYYY@@@@****ìììì::::

(a) Lesser Á (b) Greater         ic*Š{ (c) Moderate Šgx: (d) No effect ÃðZW,7

v. As we go up in the air:     ‰‰‰‰ëëëëƒƒƒƒZZZZ~~~~ZZZZzzzz6666,,,,ÃÃÃÃYYYYDDDD÷÷÷÷ÂÂÂÂ::::
(a) Atmospheric pressure increases.  Z#-)é GHÉu6,bÁY@*ìX
(b) Atmospheric pressure decreases.  Z#-)é GHÉu6,b(,|Y@*ìX
(c) Atmospheric pressure does not change.  Z#-)é GHÉu6,bps7ƒ@*X
(d) Atmospheric pressure become zero at the height of 1km.

 Zq-³¢aÅ—~6,Z#-)é GHÉu6,b#ƒY@*ìX
vi. If the total force of team A, is greater than team B, then rope will move.

Ðic*Š{ƒCìÂQgôw•™}ÏX B Å®ÿ N¤‰Üš A Z¤/š
(a) Towards team B Å§s Bš (b) Towards team A Å§s Aš
(c) Rope will not move gÏw•7™}Ï (d) Rope wil stop gÏguYñÏ
Q.No.2. Write short answers.                (2×2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) Define atmospheric pressure . Z#-)é GHÉu6,bÅ°p™,X
(ii) How does the effect of downward force of gravity becomes zero?

¤/-¨Å̄gk»ZW,#ùƒY@*ì?

Q.No.3. Write long answer.                                (3) ----����ZZZZ[[[[KKKKXXXX
Explain the effect of force in the presence of air pressure.

ƒƒƒƒZZZZÆÆÆÆ6666,,,,bbbbÅÅÅÅññññ����ŠŠŠŠÏÏÏÏ~~~~̄¯̄̄ggggkkkkÆÆÆÆZZZZWWWW,,,,ÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX
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